IF IN DOUBT ASK

Item |Drg No/ Part Description Qty
1 LBSL 260-20-003 Machining | Top Cap 1
2 |LBSL 260-20-016 Bottom Cap assembly 1
3 [LBSL 260-20-008 Timetable back panel 1
4 |LBSL 260-20-006 Timetable Glazing 1
5 |LBSL 260-20-026 Timetable Backing panel 1
6 [LBSL 260-20-005 RH Side Trim RH 1
7 [LBSL 260-20-005 LH Side Trim LH 1
8 |TEL A210-02-024 Time Table Fixing Bracket 2

20 M6 x 16 Button Hd screws 8

21 M6 x 12 Socket Head cap Screw 2

22 M4 Full Nut 1

23 M4 Plain Washer 1

24 M8 x 20 Grub Screw 4

25 M8 Full Nut 4

26 M8 Plain washer 4

@ 0

Part View showing

Back Panel (it.3) & Bottom Cap assy(it.2)
without Glazing (it.4) & Backing panel (it.5)

Fix Lanyard to
M4 Stud

22} 23

O,

Notes

Materials: See items List
Finish: Clean

Tolerance unless otherwise stated to +/- 0.5mm

A;JS
1o

<

1041.0

278.0

Do not scale
All dimensions in millimetres

Do not manually alter CAD drawings

Estimated Weight 12.5 kg
(with side cheeks)
Without side cheeks = 7.5

B | First issue RFG | 18-04-13
ISS| DESCRIPTION SIG | DATE

London

Buses

Palestra

197 Blackfriars Road

London

SE1 8NJ

Telephone 020 3054 0411
Facsimile 020 3054 2003

© copyright TfL Original design for LBSL by
Trueform Engineering Ltd

MAYOR OF LONDON

METAL BUS STOP
STANDARD DRAWING

Title
Triple A4 Timetable

Time Table Assembly

AMOS code

© copyright TfL Design drawn on
behalf of LBSL by
Trueform Engineering Ltd.

Drawn Checked
RFG JM
Scale Date
10-11-11
Drawing no. Rev
LBSL 260 20 001 B

For further details contact London Buses: Tel 020 3054 0411 Fax 020 3054 2003

A3]



